(. LOMBARD I Ndeou: cip-supercip

A KOHLER. COMPATEgine: LDW 1603 Drawing: E

CRANKCASE/GEAR COVER/MOUNTS

POS. |CODE DESCRIPTION Qty
1 «———- » gear side cover fitted for jockey pulley 0
1 6658.015 gear side cover 1
2 9732.075 screw M 8 X 50 2
2a 9$820.179 special screw M 8 X 65 1
3 1970.141 sleeve 2
4 1510.875 CRANKCASE 1
5 765.180 screw M 8 X 10 1
6 4580.185 gasket 1
7 2650.062 cover 1
8 4431.207 gasket 1
9 ©730.024 screw M 8 X 16 3
9a 9$732.074 screw M 8 X 20 1

10 2615.047 camshaft cover 1
11 9800.061 screw M 6 X 16 2
12 8990.022 eXpansion plug diam.30 6
13 2032.349 flanging bell SAE 4 1
13 2032.353 flanging bell SAE 5 1
13 2032.356 "flanging bell SAE 5 (3/8"" drilling holes)" 1
13 2032.357 flanging bell 1
14 9765.111 threaded plug 1
15 9730.100 screw M 8 X 25 2
16 765.109 screw M 14 1
17 9080.140 plug 1
18 8460.055 locating dowel 2
19 4670.061 copper gasket diam.14 1
20 9040.012 plug M 14 1
21 4501.160 gasket 1
22 3790.080 FLANGE 1
23 1213.349 seal ring 1
24 2660.008 cover 1
25 1200.091 O ring 1
26 8400.108 lockpin 10 X 20 2
27 1257.167 thrust washer std 2
27 1257.168 thrust washer +0,10 2
27 1257.169 thrust washer +0,20 2
28 9730.012 screw M 6 X 20 8
32 9730.010 screw M 6 X 16 4
34 9730.031 screw M 8 X 40 8
38 4601.205 gasket 1
39 1611.205 middle supp.bearing std. 4
39 1611.206 middle supp.bearing -0,25 4
39 1611.207 middle supp.bearing -0,50 4
40 «————— » see Pos. 4 0
43 4400.054 gasket 4
44 1862.150 bolt 8
45 1970.141 sleeve 8
49 4670.058 copper gasket diam. 8,2X12X1,5 2
50 8965.021 plug M 8 2
63 8990.054 plug diam. 50 1

printed by LOMBARDINI:

14.11.2012 -

1




Additional Info - Engine: LDW 1603 Drawing: E

CRANKCASE/GEAR COVER/MOUNTS

Pos. Old part Serv.Lett. Notes S.No/Date

E 1 6658.010| 300055 |-

E 5 9765.178| 300060 |- 7331891
9765.140| 300058 |- 7324573 |

E 8 4431.155] ITO156 |- 7365919

E 21  4501.120! IT0156 |- 7365910 |

‘Ef3§‘7‘ZEbiTIﬁgIETBIE@:I} 77777777777777 :1}§€5§i§7
|E 39  1611.141 300051 - 7303630 |
|E 39  1611.142|300051 |- 7303630 |
E 39 1611.143+300051+— 7303630 |

printed by LOMBARDINI: 14.11.2012 - 2



10T 11+ INIQIVEINOT 4q parunid

g5

Sy vv w@ A4 4
A

ﬁ/_w

A\

el e ) 8-z |
¢g @9 _‘m/!cw N 23 %J £09L-€0SLMTTY €
0.—4A-69 89 €9’ 6 oG L m

A :SuiMelq €091 AAQ'T -duiduy



